St Denys Primary School

Spellings and Times Tables

Week beginning:
th
_ 15" June 2020 -

Creativity, Choice, Challenge
Achievement for All




Week 3 Spellings

Each week you will have 10 new spelling words - with a choice of 2 levels.
Some of the 10 spellings will help you investigate and learn a spelling pattern.
Others will be from our Year 4 spelling mat or are common exception words.

We suggest a structure like this for the week, based on 10-15 minutes’ practice per day:

Choose your spelling level for this week, or which spellings you are going
to 'mix and match' (be honest about which one will be the right challenge
for you). Get someone to test you and work out which ones from the list
you will really need to focus on (remember to aim to learn about 5
spellings a week).

Session
1

Complete Look, Cover, Write, Check for your focus spellings (5-8 words
Session you chose yesterday).

2
Investigate the spelling pattern with Activity sheet 1.

Session | Write your focus spellings in sentences to show you understand what
3 they mean.

Test! Ask someone fo test you on your spelling words. How many did you
. |learn this week?
Session
2 You could also use Activity sheet 2 to investigate the spelling pattern
further.
Level 1 Level 2
eighteen beige
tray eighteen
prey surveyor
weight plague
heavy antique
heir scenery
where colleague
were isosceles
freight though
vein although




Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the “write’ column. If you spell the word incorrectly, write it again in the correction column.

look |[say |cover | write check | correction

Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the ‘write’ column. If you spell the word incorrectly, write it again in the correction column,

look |say | cover | write check | correction




Activity Sheet
Term 3 Set 1 Week 2

i o

complete the sentences below.

/4

( Use the words in the box to ]

therefore  through though although
thought various variety weight

that exercise was very difficult. ]

You are a school councillor now and
have responsibilities.

N
A
[The school hall is used for purpases.)
/4
[ | think Mr Stamen has put on a bit of
[ | have a lot of work to get today. J (=)
4 [
1; {Even the plate was pi[ed} -
) . .
L—,-f) high, | ate only three cookies.
# \]
I'm very knowledgeable on a PR
of different topics. § 1
, S

!() ) it was raining,
f;) o we still went out to play.

SPELLING YEAR 4

£ Copyright HeadStart Primary Lid



Activity Sheet

i 1

Term 3 Set 1 Week 3

Use the words in the box below to complete the sentences
in your own words. You don’t need to use all eight words.

therefore  through though although
thought various variety weight

SPELLING YEAR 4

£ Copyright HeadStart Primary Lbd



Name: Week 1 Session 1
. 2019-20
Times Tables 3,6,9
. 3x, 6x, 9x tables - Week 3
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 9x1l1= 21 9x 4= 41 6X6=
2 9x4= 22 9x1= 42 1%6= Time taken
3 9x2= 23 6 x12 = 43 8x9=
- - 3 minute time limit &
4 6x9= 24 9x 4= 44 10 x 9 =
T - E— Score
5 6X6= 25 3x6= 45 5x3=
6 9x1= 26 9x5= 46 12x9 = 60
7 3x7= 27 3x2= 47 12x6=
- E— What's your rock status?
8 3x5= 28 3x12 = 48 9x9=
9 3x2= 29 3x3= 49 6 x 3= < 18 correct in 3 mins
SARAGE ROCKER
10 9x1= 30 3x9= 50 6 x9= 18-19 correct in 3 mins
11 3x8= 31 10 x 3 = 51 10 X 3 = 20-21 correct in 3 mins
T KR
12 3x2= 32 12 X6 = 52 3% 6= 22-24 correct in 3 mins
- - T UNZKNE A
13 3x11= 33 4%X6= 53 12 x 9 = 25-29 correct in 3 mins
BREAKTHROUGH ARTIST
14 9x3= 34 5x9= 54 11 x 3 = 30-35 correct in 3 mins
15 9x9= 35 8%X 6= 55 2xX9= 36-44 correct in 3 mins
HEADUINER
16 9x9= 36 1x3= 56 11 x9 = 45-59 correct in 3 mins
- o T Rodk2TAR
17 3x5= 37 5x 3= 57 10 x 9 = All correct in < 3mins
o<k LEGEND
18 6x1= 38 7X6= 58 7%X6= All correct in < 2min
ROk HERO
19 6 x 10 = 39 10 x 9 = 59 1X6= All correct in < 1 min
20 6x12 = 40 3x9= 60 5% 6=

©Maths Circle Ltd 2020



Name: Week 1 Session 2

Times Tables 3,6,9 2019-20
. 3X, 6x, 9x tables - Week 3
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6 13 6 25 6 37 9 49 9
X 8 X 8 X9 X 12 x 1
- Time taken
2 9 14 3 26 6 38 6 50 9
x5 x 11 X 12 X 9 X 6
3 minute time limit &
3 9 15 6 27 3 39 3 51 3 Score
X 12 X 4 x 10 X 8 X 6
4 3 16 9 28 9 40 6 52 3 60
X 4 x 10 x 10 X 3 X 2
What's your rock status?
5 6 17 3 29 6 41 9 53 9
X 7 X 8 X 9 x 1 X 8
< 18 correct in 3 mins
6 9 18 9 30 9 42 6 54 9 CADACE DodkEn
X 2 X 6 x 7 X9 x7 GARAGT RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 9 19 3 31 9 43 9 55 9 20-21 correct in 3 mins
x5 X 4 X 6 X 4 X 3 «/«“%
- 22-24 correct in 3 mins
g 6 20 9 2 9 44 3 56 9 UNHACNED A<T
X 12 X 1 x 11 X 9 X 7 25-29 correct in 3 mins
BATAKTHROUGH ARTIZT
30-35 correct in 3 mins
9 6 21 3 33 9 45 3 57 6 SIDDADT AdT
X 5 x 10 x 4 X 8 x 8 7U|TI'
36-44 correct in 3 mins
* * — E— — HUDUNER
10 6 22 9 34 3 46 6 58 9 45-59 correct in 3 mins
x 12 X 2 X 8 X 6 X 8 Adlk 4TAD
o<k #TAR
[ - - . All correct in < 3mins
RO [7 1E i[iﬁ:
11 9 23 9 35 9 47 6 59 6 704 LESEND
x 10 X 5 x 11 X 8 X 12 All correct in < 2min
All correct in < 1 min
12 6 24 9 36 6 48 9 60 9 S
X5 x 1 x 7 X 6 x 1 TUMES TABLES
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Name: Week 1 Session 3

. 2019-20
Times Tables 3,6,9
. 3x, 6%, 9x tables - Week 3
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6x8= 21 3x9= 41 7x9=
2 9x6= 22 9x2= 42 4x6= Time taken
3 3x3= 23 6x4= 43 6Xx3=
- — 3 minute time limit &
4 6x8= 24 9x 8= 44 8x9=
T - E—— Score
5 6x9= 25 6x7= 45 3x9=
6 3x10= 26 6x2= 46 3x6= 60
7 6x4= 27 9x10= 47 8X6=
- E— What's your rock status?
8 6 x 10 = 28 6 x 10 = 48 12x3=
9 3x12 = 29 9x 11 = 49 12 x 3 = < 18 correct in 3 mins
10 9x9= 30 9x5= 50 6 x9= 18-19 correct in 3 mins
11 6 X6= 31 11 X 6 = 51 1%x9= 20-21 correct in 3 mins
T KR
12 3x2= 32 2x3= 52 6xX9= 22-24 correct in 3 mins
UN#AGNED AT
13 9x 4= 33 4%X6= 53 2x9= 25-29 correct in 3 mins
BRUAKTHROUGH ARTIZT
14 3x5= 34 9x3= 54 2x3= 30-35 correct in 3 mins
15 3x6= 35 3x3= 55 10 X 6 = 36-44 correct in 3 mins
HEADUINER
16 Ox2= 36 8x3= 56 7x3= 45-59 correct in 3 mins
- - T Rodk2TAR
17 9x9= 37 8x3= 57 10 x 3 = All correct in < 3mins
18 3x9= 38 5x 9= 58 12 X 6 = All correct in < 2min
Ro<k HERO
19 6X3= 39 9x9= 59 2x3= All correct in < 1 min
20 3x12= 40 10 x 9 = 60 6X6=

©Maths Circle Ltd 2020



Name: Week 1 Session 4

Times Tables 3,6,9 2019-20
. 3X, 6x, 9x tables - Week 3
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 3 13 9 25 6 37 6 49 6
x 1 X 4 X 8 X 3 x 1
- . o o . Time taken
2 6 14 6 26 3 38 6 50 9
X 8 X 3 X 9 X 8 x 11
3 minute time limit &
3 3 15 3 27 6 39 3 51 3 Score
X 12 X 6 X 12 X 9 X 9
4 3 16 3 28 6 40 6 52 9 60
x 7 X 4 X 9 x 11 X 12
What's your rock status?
5 6 17 9 29 3 41 9 53 3
X 8 X 2 X 8 X 6 X 6
ANN
< 18 correct in 3 mins
6 9 18 6 30 9 42 3 54 3 CADACE DodkEn
x 12 x 11 x 7 X3 x 10 CARAGE RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 3 19 3 31 9 43 3 55 6 20-21 correct in 3 mins
X 7 X 8 x 11 X 9 x 1 «/«“%
- - - 22-24 correct in 3 mins
g 3 20 9 2 6 a9 56 3 UNSKND AT
X 7 X9 x 10 x 10 X9 25-29 correct in 3 mins
BREAKTHROUGH ARTIZT
30-35 correct in 3 mins
9 6 21 3 33 6 45 9 57 3 SIDDADT AdT
X 4 X 2 X 6 x 11 x 9 7U|TI'
36-44 correct in 3 mins
T o * - T HEADUNER
10 9 22 3 34 3 46 6 58 6 45-59 correct in 3 mins
x 11 X 3 X 9 x 11 x 10 Adk &TAD
o<k #TAR
[ - - . o All correct in < 3mins
> [ﬁ . ir:
11 9 23 3 35 6 47 6 59 9 704 LESEND
X 2 x 11 x 11 X 8 X 12 All correct in = 2min
All correct in < 1 min
12 9 24 6 36 3 48 3 60 6 o
x 11 x 11 X 7 X 7 X 2 TUMES TABLES

©Maths Circle Ltd 2020



Name:

Times Tables
Rock Stars

Week 1 Session 5

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

9x6=

9x2=

9x10=

9x4=

3Ix7=

3Ix7=

6 x11=

9x1=

6 x10 =

6Xx9=

3x5=

3x10=

6Xx5=

6X2-=

3x11=

9x8=

6x4=

3X6=

9x5=

9x 6=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

3,6,9 2019-20
. 3x, 6x, 9x tables - Week 3
Times Tables 5 & week
3x3= 41 2X9=
6x12= 42 9x6= Time taken
9x2= 43 9x9=
- — 3 minute time limit &
9x 3= 44 10 x 3 =
— E— Score
6 x10 = 45 10 x 9 =
6x2= 46 2X6= 60
3x4= 47 8x9=
- E— Add up your time
9x8= 48 2x3= Mins
S1
3x11= 49 4x6= S2
S3
3x5= 50 6X6= s4
S5
7%X6= 51 2X6=
- E—— Total
2X6= 52 2X9= Secs
S1
12 x9= 53 4%xX6=
- - S2
8x9= 54 7%x3= s3
- S4
9x9= 55 Ox 9= S5
Total
11 x9= 56 12 x 9 =
Add up your score
4x3= 57 8x9= s1
S2
= 58 =
10x 3 4 x3 s3
1x9= 59 6X9= S4
S5
4x6= 60 7%x9= Total

©Maths Circle Ltd 2020



020Z PY1 32410 SYIeNG

6 14 [4% 6 0€
X 9 X L X x S X
6 09 6 8y 9 9¢ 6 124 9 At
L 514 66 14 06
[49R 8 X T x S X 0T x
9 69 9 LY 6 S€ 6 €C 6 T
L 9¢ 144 81 4
8 X 9 X 8 X X [ARS
6 89 9 or € %3 6 [44 9 01
514 144 9¢ 0€ 0€
8 x 8 X P X 0T X [
9 LS 3 S 6 €€ I3 114 9 6
€9 Lz 66 6 <L
[ X 6 X IT X Ix [A1RS
6 99 € 124 6 [43 6 0z 9 8
T e I o v
£ex X 9x X ox
6 SS 6 134 6 T€ I3 6T 6 L
€9 14 €9 149 81
LX 6 X LX 9 X X
6 14 9 [4% 6 0€ 6 81 6 9
o 6 I vz w
8x X 6xX 8x X
6 €G 6 184 9 6¢ € LT 9 S
9 i 06 06 o
X € X 0T x 0T x v x
€ 149 9 o 6 8¢ 6 9T € 14
8T ve 0g I 80T
9 x 8 X 0T X X [ARS
€ TS € 6€ € LT 9 ST 6 €
I s uw € v
9 X 6 X [AB IT X G X
6 0§ 9 8€ 9 9¢ € 1 6 4
6 80T s 2l ran
X 71 x 6 X g x g x
6 (974 6 LE 9 14 9 €1 9 T
100425 Asewilid SAUSQ 1S 03 PasUDII
yoame g
€ J99M - S3|qe) X6 ‘X9 ‘XE selqel sswiL = LD 20
0Z-610¢ Q-Q.M So|ge] Ssawl]
Z UOISSS T Yo9M awen

0202 P31 311D Syt G

0E=9X¢g 09 LT=6XE (1] 2L=TT X9 0z
9=9XT1 65 06 =6 X 0T 6€ 09=0T %9 61
w=9x/L 8G w=9x/L 8¢ 9=1X9 81
06 =6 X 0T LS GI=€¢€X§ LE GI=GX¢g LT
66 =6 XTI 9G €=¢€eXT1 9€ 18=6X6 91
8T =6X¢ GS 87 =9X8 Gg I18=6X6 ST
EE=EXTI ¥S Sh=6X9 143 LT=EXB6 a8
80T =6 X I £€g Z=9x¥ €€ EE=TIXE €1
8I=9X¢ 5 2L=9XT € 9=CXE 1
0€=€X0T 16 0€ =€ x0T 1€ vZ=8Xx¢ s
S=6XxX9 0S LT=6XE 0€ 6=1X6 0T
8I=¢€X9 6% 6=€X¢E 6C 9=C¢XE 6
18=6X6 8P 9gE=CTIXE 8C SI=GXE 8
L=9X%XT LY 9=CXE 1T TZ=LXE L
80T =6 X I ¢}/ SP=GX6 9Z 6=1X6 9
SI=€X9 (47 8T =9X¢ Gz 9€=9Xx9 G
06 =6 X 0T 1472 9E=V X6 T YS=6Xx9 ¥
L=6X%X8 (37 ZL=TCT X9 (34 8I=7X6 €
9=9Xx1 w 6=1X6 144 9=V X6 4
9€=9Xx9 IR 9GE=P X6 1C 66 =TT X6 T
10025 Atewud sAuaq 15 03 pasuadn
PRI E S L sa|qel sawi] SJe3s 320y
€199 - S9|qe} X6 ‘X9 XE
0Z-610Z 6'9‘€ S9|gel sswil
T UOISS3S T 399M dweN



020Z PY1 32410 SYIeNG

45 TC 1C 99 66
X L X L X TT X T X
9 09 3 8y 3 9¢ 9 124 6 At
80T 514 99 €e 81
[49R 8 X T x T x X
6 69 9 LY 9 S€ € €C 6 T
09 99 Lz 6 66
0T x T x 6 X € X 1T X
9 89 9 or € %3 € [44 6 01
Lz 66 9¢ 9 144
6 X 1T X 9 x X P x
€ LS 6 S 9 €€ I3 114 9 6
Lz 06 09 18 ¢
6 X 0T x 0T x 6 X L X
€ 99 6 124 9 [43 6 0z € 8
9 Lz 66 144 ¢
x 6 X IT X 8 X LX
9 SS € 134 6 T€ I3 6T I3 L
0€ 6 €9 99 80T
0T X €X L X T x [49R
€ 14 € [4% 6 0€ 9 81 6 9
81 14 144 81 8y
9x 9x 8x x gx
€ €G 6 184 € 6¢ 6 LT 9 S
80T 99 14 45 1T
[49R T x 6 X v x L X
6 149 9 o 9 8¢ € 9T € 14
Lz LT zL 81 9¢
6 X 6 X [AS 9 X [ARS
€ TS € 6€ 9 LT € ST € €
66 514 LT 81 8y
IT X 8 X 6 X £ X 8 x
6 0§ 9 8€ € 9¢ 9 1 9 4
9 81 8y 9¢ €
X € X 8 X X X
9 (974 9 LE 9 14 6 €1 € T
100425 Asewilid SAUSQ 1S 03 PasUDII
yoame g
€ J99M - S3|qe) X6 ‘X9 ‘XE selqel sswiL = LD 20
02-6102 Q-Q.M So|ge] Ssawl]
¥ UOISSSS T YoM awen

0202 P31 311D Syt G

9€=9Xx9 09 06 =6 X 0T (1] 9E=CI X € 0z
9=¢X¢ 65 I18=6X6 6€ 8T =€X9 61
L=9X%XT 8G SP=6XG 8¢ LZ=6X¢E 8T
0€ =€ X 0T LS vZ=€X8 LE I8=6X6 LT
TZ=€XL 95 ¥Z=€x8 9¢ 8T =7X6 91
09=9 x0T GS 6=€X¢E Gg 8T =9X¢ ST
9=¢X¢ ¥S LT=EX6 143 SI=GXE a8
8T =6XC [ YZ=9x¢ €€ 9GE=V X6 €1
YG=6XxX9 4 9=€X¢ 43 9=CXE 1
6=6XT1 16 99 =9 XTI 1€ 9€=9Xx9 s
S=6XxX9 0S Sh=G6X6 0€ 18=6X6 0T
9e=¢€XT 6% 66 =TI X6 6C 9E=2T X € 6
9e=€X1 (17 09=0Tx9 8Z 09=0T x9 8
8V =9Xx8 LY 06 =0T X6 1T vZ=vx9 L
8T =9X¢ 9% I=0X9 9Z 0€E=0T x € 9
LT=6XE (47 r=LX9 Gz PS=6Xx9 G
L=6X8 1472 iL=8X6 T 8y =8X%X9 ¥
8T =€X9 3% YZ=vx9 (x4 6=€EXE €
Vve=9x¥ w 81 =7X6 144 PG=9Xx6 4
€9=6X1L IR LT=6XE 1C 87 =8X9 T
100y25 Auewild sAuag 35 03 pasudI
PRI E S L sa|qel sawi] SJe3s 320y
€ 93 - S3|qe] X6 X9 XE
0Z-610Z 6'9‘€ S9|gel sswil
€ U0ISSS T 399M dweN



0202 P31 311D Syt G

€9=6X1L 09 VZ=9x79 (1] 7S=9X6 0z
YS=6Xx9 65 6=6XT 6€ Sh=GX6 6T
I=¢X¥y 8g 0€ =€ x0T 8¢ 8T =9X¢g 81
L=6X8 LS I=¢€XYy LE vZ=vx9 LT
80T =6XCI 9g 66 =6 X 1T 9€ L=8X6 91
I18=6X6 GS I18=6X6 Gg EE=TIXE ST
C=¢€ex1L ¥S ZL=6X8 143 I=CX9 a8
YZ=9x¢y [ 80T =6XCT  €f 0E=6X%x9 €1
8I=6X¢ 5 I=9Xx¢ € 0E=0T X € 43
T=9X%X¢ 15 r=9X%X1L 1€ SI=GX¢ 1T
9€=9Xx9 0S SI=GX¢E 0€ PS=6Xx9 0T
YZ=9x¢ 6 €EE=TIXE 6C 09=0Tx9 6
9=€X1¢ 8P L=8X6 8C 6=1X6 8
L=6X%X8 LY I=pXE 1T 99 =TI %9 L
I=9Xx¢ 9% I=0X9 9Z TZ=LXE 9
06 =6 X 0T (47 09=0Tx9 Gz =L XE G
0E=¢ X 0T 1472 LT=€EX6 T 9E=V X6 ¥
I18=6X6 3% 81 =7X6 (x4 06 =0T X6 €
PG=9X6 w ZL=CT X9 144 8I=7X6 4
8T =6X¢ IR 6=¢X¢E 1C 7S=9X6 T
100y25 Auewild sAuag 35 03 pasudI
PRI E S L sa|qel sawi] SJe3s 320y
€ 93 - S3|qe] X6 X9 XE
0Z-610Z 6'9‘€ S9|gel sswil
G UOISS3S T 399M dweN



